A o BOY, V) 5 AT, F) bl zil U1, AB Lt o)L Cieaie 5 pas alslas =)

: ¥ 0
")“.").5‘ Cﬁmbé\{b °ji"> CL.&.\.:: d#@m‘wuﬁ('\‘, Y) J'.SJ..AA.!C L5°)f."> J;yz"TX_F; L -y

AL s B(-Y,-Y) 5 A(Y,Y) 4k 5o 5l pldol oS us g gl y = X+ ¥ b g5, -



cle> L H olase 1l sl gl AH S1.C(V, -Y) 5 B(-Y, f) 5 A(Y, 0) « ABC &lee 5 -¥
S

Y
Y(X+B=\‘L5¢h;|) Ubuﬁui‘éuui)Bjauf‘\sJ:JL:JQL}‘)m)‘MX +mX-Y’:~ LSA.SJL&.O)J—O

RV PR e

\ \
B+ o+

- Y _
d‘ 6&“1)6%1)&6‘4}3LMJJLX ‘VX‘\:' r)b 4.>.-)J UJLA.ALSLAA.;._L)BJGJS|—9

AW



_ Y Y

.J\.L)‘ji C_A,wbdq.b C_YU

v
(\‘-XY) -Y (\G-x‘)-\a: S 1 el dslee -A

Y
\ T ..X:;S uLm.>- b J._»LZ.A Jg.& 6».@..\..4 ‘\.‘JL&A -Q




Y
/“& Cale e Ll sl esls p(x)=ax +bx+c dsles 4 I Wy L R AR

/N

|

Y
LS e | ax +bx+c=+ dslas claais, slas 5 csbsa

4/x+v-v=\ﬁx-rqu S 1 blee ol gadalas -1

S = s gdslee =YY
x+\‘+ X-Y  AXT?

X-Y X+r ¥
X +Xx-f




